MHCB*

Al

JHEEMRTUH R JhEREL

MHCBR i)
MHCBF i)
MHCBS 2
MHCBS-D i c4s 7
MHCBS-DA iy 2455

MHCBS-DB "J#{7# (25 /50mm)

A AR

MHCBS — 50 — 30 — ZDA

BUER
MHCBR
MHCBF
MHCBS

M mindman

mindman

REh

o FHRIHIER ﬂtt Ex?EE LA 2 M > R ST RS NRBS 22 TR 32
FREIES

OKﬁﬁﬂrﬁﬂBﬁIW%%ﬁﬁﬂibﬂlﬁ B REDGH - WRERFG

o JMEUEEETESTS ~ SEEE -
HikS
T MHCB*
THIFELPIAE (mm) 20 | 25 | 32 | 40 | 50 | 63 | 80
FTREHIRE (mm) 30 50
5 A LRI L A R
FLASHAE s
HRABEFIEES) 14 MPa
o P —10~+60°C ( B )
:E§§§ﬂ fEHEf TR R @im, OFTHY,
AUz \%\ 5 |10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50
:%:U 20| O | @ | O | ®@ | O | @ | - - - -
5| o | e|lo|e|o|e| - | -|-1|-
. 02| e [ e | e[ e[ e |@e[0o @[]0 e
MHCBR
:%:U MHOBE | 20| @ (e (e e e e | O|@ O 6@
50| @ | @ | @ | e[ e | @[O0 |@|[0O| e
63| @ | o | e[| o | 0| @[O0 |@|0]| e
I:%E: 80| @ | e | e[ e [e @0 |e@][0]e
2| o [e|o|e[o|e[o|efo]e
gs0|l o |@e|o|e|o|e|[o|e@|[0| e
MHCBS
:%E:@ g50| O (@ | o | e | o |e@]| 0 |e@| 0| e
3| o|e|lo|]e[o|e[]o|e]|]o]e
72 BhmEIl D: Ei
iy | N
i3 il / ]2 DA FIHRTTHE 25mm
({#:58f MHCBS Hu5% )
iy | N
V4 il / Hher DB TEHATHE 50mm
(f#3#H MHCBS #5% )
L iy | HPF
R / WG A s
D l , ZDA TR 25mm
@ (#H38F MHCBS 213t ) @ ( {38 MHCBS %5% )
- el | SR/
el Mo B
ZD ek . ZDB 372 50mm
@ ( fEEfH MHCBS 23t ) @ ( {387 MHCBS 7% )




MHCBR %8R ~F 220~080

g R CSE Y R ERET mindman

MHCBR 40K H58

N1-O #Ug Wl oMxH 3%
JxJ1 %
() %) [ T ) D)
N\ &=/ [ - 1] Y% N\
@T;f;f:::f[ - &)
[h'4
T— &4 8 4 t+—te E —
1 14
== ©
() ) I — 1] (AR A
Y/ ) | 1| = )
OF cL SW.
OE B C _i.\
A OF
OE
MHCBR-Z
4-gK &3l
N1-O #IzR i eMxH 2
(1 ) I — ol (N A
N\ N\ [ 1] \\ﬁﬂ N\
Ve — o) / \
=/ 1] - M
D) | ol 2 0:,7 o / NAILN
O 5 e
@ CD
) @) I — 1] @A T @)
7/ W) [ - 1| &% N
OF cL Sw
OE B cl. oL M
A OF
OE
s LR MHCBR / MHCBR-Z
(mm) [eewe /72| 5 10 | 15 | 20 [ 25 | 30 | 35 | 40 | 45 [ 50
A 61 61 71 71 81 81 - - - -
220
B 53 53 63 63 73 73 = = = =
025 A 63 63 73 73 83 83 - - - -
B 55 55 65 65 75 75 = = = =
032 A 69 74 79 84 89 94 | 104 | 104 | 114 | 114
B 59 64 69 74 79 84 94 94 | 104 | 104
540 A 70 75 80 85 90 95 | 105 | 105 | 115 | 115
B 60 65 70 75 80 85 95 95 | 105 | 105
50 A 76 81 86 91 96 | 101 [ 111 [ 111 | 121 | 121
B 65 70 75 80 85 90 | 100 | 100 | 110 | 110
063 A 85 90 95 | 100 | 105 | 110 | 120 | 120 | 130 | 130
B 72 77 82 87 92 97 | 107 | 107 | 117 | 117
550 A 100 | 105 | 110 | 115 | 120 | 125 | 135 | 135 | 145 | 145
B 83 88 93 98 | 103 | 108 | 118 | 118 | 128 [ 128
B lclet|p|E|F |G| H J | K| m| N o OL | R1|sw
220 | 8| 6| 12| 42| 30 [1655 55| M8x1.25 | 12 | 56| 9 [P4 | m10x1.25 | 20 | 6.5] 10
225 | 8| 6| 14| 48| 36 [195] 55| M10x15 | 15 | 56| 9 [Pa | M12x125 [ 22 | 9 | 12
232 | 10| 7 20| 62| 47 |24 | 65| M12x1.75 | 15 | 66| 11 | P6 | M16x15 | 25 [12 | 17
40 [ 10| 725 7052 (27 [ 9 | m16x20 [20 [ 9 | 14 [P | M22x15 | 30 [13 | 22
250 | 11| 8| 30| 80| 58 [32 |11 M20x2.5 | 25 [11 | 18 | P8 | M26x1.5 | 35 [13.5] 27
263 | 13| 10 | 35 | 94| 69 |38 [13 | M27x3.0 | 35 [13 | 20 | P8 | M30x1.5 | 40 [17.5] 32
280 | 17 | 14 | 45 [114 ] 86 [47 [15 | M30x35 [ 35 [15 | 22 [ P11]| M39x1.5 | 45 [22.5] 41

M mindman



MHCBF %Rt 620~080

SR TUE R R ET

MHCBF

4-oK H3i
N-O HUEz Wil oMxH %
JIxJ1 %
() @) [ ] () @)
N\ "/ ; ‘ N\ N\
. [
—1 3 o{ o
@ N
@ 7 @ T &
Y/ ) Y/ N
G cL | SW |
OF B C OF
OE A OE
MHCBF-Z
4-gK Bl
N-O & it} oMxH %
(7 A (17 )
N\ S A\, N\
. N
o —Jee o)
x NS=
@ 7o @ 7T &
% /) % N2,
G cL | SW |
oF B C | _OL OF
OE A OE
i | R MHCBF / MHCBF-Z
(mm) Tege /1752 | 5 10 | 15 [ 20 | 25 [ 30 | 35 | 40 | 45 | 50
A 61 | 61 71 71 81 81 | - - - _
220
B 53 | 53 | 63 | 63 | 73| 73| - - - —
025 A 63 | 63| 73| 73| 83 | 83 | - _ _ _
B 55 | 55| 65 | 65| 75| 75 | - - - -
032 A 69 | 74| 79 | 84| 89 | 94 | 104 | 104 | 114 | 114
B 50 | 64 | 69 | 74 | 79 | 84 | 94 | 94 | 104 | 104
040 A 70| 75| 8 | 8 | 9 | 95 | 105 | 105 | 115 | 115
B 60 | 65| 70 | 75| 80 | 8 | 95| 95 | 105 | 105
050 A 76 | 81| 8 | ot 96 | 101 | 111 | 111 | 121 | 121
B 65 | 70 | 75 | 80 | 85 | 90 | 100 | 100 | 110 | 110
063 A 85 | 90 | 95 | 100 | 105 | 110 | 120 | 120 | 130 | 130
B 72| 77| 82| 87| 92| o7 | 107 | 107 | 117 | 117
280 A 100 | 105 | 110 | 115 | 120 | 125 | 135 | 135 | 145 | 145
B 83 | 88 | 93 | 98 | 103 | 108 | 118 | 118 | 128 | 128
e lclet|p|E|F|G|H J J| K| M| N o OoL| R |sw
220 | 8| 6| 12| 4230 | 13| 55| M8x1.25 | 12 | 56| 9 |P5 | M10x1.25 | 20 | 55| 10
925 | 8| 6| 14| 48|36 | 15| 55| M10x15 | 15 | 56| 9 |P7 | M12x1.25 | 22 | 65| 12
@32 | 10| 7| 20| 62|47 | 20| 65| M12x1.75 | 15 | 66| 11 [ P9 | M16x1.5 | 25 [10 | 17
240 | 10 | 7 | 25| 70|52 [ 24 [ 9 | M16x20 |20 | 9 | 14 [ P9 | M22x15 | 30 [10 | 22
250 | 11| 8 | 30| 80|58 | 29 [11 | M20x25 |25 [11 | 18 | P9 | M26x1.5 | 35 [10 | 27
263 | 13 | 10 | 35 | 94| 69 | 35 [13 | M27x3.0 | 35 [13 | 20 [ P11| M30x1.5 | 40 [13 | 32
280 | 17 | 14 | 45 | 114 | 86 | 44 [15 | M30x35 | 35 |15 | 22 | P11| M39x1.5 | 45 [15 | 41

M mindman

mindman




MHCBS SR~ 032~063 V

g R CSE Y R ERET mindman

MHCBS MHCBS-D

“ &) 5 5 38 Flo——9©
x % } ,_U LL\ ,,((f%), ﬂ
i
& @  ©
X P Y Y PP Y
4-oK il 4-gK =3
il oMxH % JxJH % Rl oMxH %
a0 ™)
s
g 8 w/@ 5 g & ¢
IT \J ME
| = i i
I otk E I~ 5 iyl |
X X
= N SwW cL KA _|[KW| KK S CL
KB _KW . KA cL KL c BB C+ 1712
B c AL
A
MHCBS-Z MHCBS-ZD
FC FB 20 N-O HUE 20 FF
N-O gt
© 9 o 9
N
& RN \TT:n g s < = n:ﬂ—’ & n:—{ R |
A | L - I gy I -
B - —
K', =\ (™ ™)
| 1 M M1
X P Y Y PP Y
4-gK &l 4-oK Hil
il gMxH % Wl eMxH %
(i1 )
oM /A
—Jolg ™ T +{O)e g o | F-} 4 9
T N1
i = i |
) [ ; ] ; 5 =
= KB KW _ KA cL SwW cL KA _|KW_ KK = cL
B cloL KL oL_|c BB C+17f2 _| OL
A AL

M mindman



MHCBS SR~ 032~063

g R CSE Y R ERET mindman
pore | Bt MHCBS / MHCBS-Z
(mm) [eag /1782 5 10 15 20 25 30 35 40 45 50
A 74 74 84 84 94 94 104 104 14 114
B 64 64 74 74 84 84 94 94 104 104
232 | FB 34 34 44 44 54 54 64 64 74 74
KB — — 24 24 34 34 44 44 54 54
P 24 24 34 34 44 44 54 54 64 64
A 75 75 85 85 95 95 105 105 115 115
B 65 65 75 75 85 85 95 95 105 105
240 | FB e B 43 43 53 53 63 B 73 73
KB - — 25 25 35 35 45 45 55 55
P 25 25 35 35 45 45 55 55 65 65
A 81 81 91 91 101 101 111 11 121 121
B 70 70 80 80 90 90 100 100 110 110
250 | FB 37 37 47 47 57 57 67 67 77 77
KB - - 26 26 36 36 46 46 56 56
P 28 28 38 38 48 48 58 58 68 68
A 90 90 100 100 110 110 120 120 130 130
B 77 77 87 87 97 97 107 107 17 17
263 | FB 42 42 52 52 62 62 72 72 82 82
KB — — 29 29 39 39 49 49 59 59
P 30 30 40 40 50 50 60 60 70 70
e | Mt MHCBS-D / MHCBS-ZD
(mm) [eag /1712 5 10 15 20 25 30 35 40 45 50
AL 104 109 124 129 144 149 164 169 184 189
BB 79 79 89 89 99 99 109 109 119 119
232 | FF 42 42 52 52 62 62 72 72 82 82
KK — — 39 39 49 49 59 59 69 69
PP 23 23 33 33 43 43 53 53 63 63
AL 105 110 125 130 145 150 165 170 185 190
BB 80 80 90 90 100 100 110 110 120 120
240 | FF 42 42 52 52 62 62 72 72 82 82
KK - - 40 40 50 50 60 60 70 70
PP 24 24 34 34 44 44 54 54 64 64
AL 112 117 132 137 152 157 172 177 192 197
BB 85 85 95 95 105 105 115 115 125 125
250 | FF 45 45 55 55 65 65 75 75 85 85
KK - - 41 41 51 51 61 61 71 71
PP 26 26 36 36 46 46 56 56 66 66
AL 123 128 143 148 163 168 183 188 203 208
BB 92 92 102 102 112 112 122 122 132 132
263 | FF 52 52 62 62 72 72 82 82 92 92
KK — — 44 44 54 54 64 64 74 74
PP 30 30 40 40 50 50 60 60 70 70
;"‘g c cL D EA | EB | FA | FC H J JH K KA | KL | KT
232 | 10 7 20 70 | 56 56 10 9 | M12x1.75 15 9 38 63 8
240 | 10 7 25 80 | 64 62 12 11 | M16%x2.0 20 1 38 70 8
250 | 11 8 30 o4 | 74 74 13 13 | M20x25 25 13 40 80 9
263 | 13 10 35 | 114 | 89 90 15 15 | M27x3.0 35 15 42 | 100 | 10
B kw | LH M N o oL R swW U X Y
232 | 12 25 14 | P9 M16x1.5 25 10 17 | 45 | 12 28
240 | 12 29 18 | P9 M22x1.5 30 10 2 | 45 | 12 28
250 | 14 34 20 | PN M26%x1.5 35 10 27 | 5 125 | 295
263 | 16 42 22 | P M30x1.5 40 10 32 | 55 | 16 31

*{TH2 5, 10mm LG KP4 -

M mindman



MHCBS 5HBURST - i A 032~063

i

SR TUE R R ET

MHCBS-DA

A[FRTTHE 25 mm

JIxJH %
M R
g S
v &_j‘ 4
T N
-l
SW
KL

MHCBS-ZDA

AIFRFTHE 25 mm

EB

2

LH
4

G
AN

[

12

M mindman

mindman

20, FF N-O #IiR MA
©f -
5 E o [L—
L 4 8
""3‘5?*i )
() @)
[N M1
1712 NA
Y PP Y HA
ZA
4-oK Hil A
oMxH P&
MB
i) i —
& \_J 3
£ mesm) Al *
N D*
cL KA _KW|_ KK 178 NA
c BB HA
ZA
20 , FF ) N-O HUz MA
l MB
T O
g8 T le——= i <
P S|
[ g (]
(™ ™)
M M1
1712 NA
Y PP Y HA
ZA
4-gK &3l
oMxH 7 MA
MB
[T—
a I | e =
5 © ' 1l ] 3
£ paamy| L
N ]
CL, KA _|KW|_ KK 1712 NA
oL_|C BB HA
ZA



MHCBS 5HBURST - i A 032~063

g R CSE Y R ERET mindman

T MHCBS-DA / MHCBS-ZDA

(mm) [eag /1782 5 10 15 20 25 30 35 40 45 50
ZA 153 158 173 178 193 198 213 218 233 238
BB 79 79 89 89 99 99 109 109 119 119

Jan |_FF 42 42 52 52 62 62 72 72 82 82
KK - - 39 39 49 49 59 59 69 69
PP 23 23 33 33 43 43 53 53 63 63
HA 64 69 74 79 84 89 94 99 104 109
ZA 163 168 183 188 203 208 223 228 243 248
BB 80 80 ) 90 100 100 110 110 120 120

a0 _FF 42 42 52 52 62 62 72 72 82 82
KK - - 40 40 50 50 60 60 70 70
PP 24 24 34 34 44 44 54 54 64 64
HA 73 78 83 88 93 98 103 108 13 118
ZA 171 176 191 196 211 216 231 236 251 256
BB 85 85 95 95 105 105 15 15 125 125

o _FF 45 45 55 55 65 65 75 75 85 85

25 KK - - 41 41 51 51 61 61 71 71
PP 26 26 36 36 46 46 56 56 66 66
HA 75 80 85 90 95 100 105 110 115 120
ZA 188 193 208 213 228 233 248 253 268 273
BB 92 92 102 102 12 12 122 122 132 132

o5 __FF 52 52 62 62 72 72 82 82 92 92

e KK - - 44 44 54 54 64 64 74 74
PP 30 30 40 40 50 50 60 60 70 70
HA 83 88 93 98 103 108 13 118 123 128

‘;z c cL D EA | EB | FA H J JH K KA | KL | KT | KW | LH

232 | 10 7 | 20 70 | 56 | 56 9 [M12x175| 15 9 | 38 63 8 | 12 | 25

240 | 10 7 | 25 80 | 64 | 62 11 | M16%x20 | 20 1 38 70 8 | 12 | 20

250 | 11 8 | 30 94 | 74 | 74 | 13 |M20x25 | 25 | 13 | 40 80 9 | 14 | 34

263 | 13 | 10 | 35 | 114 | 89 | 90 | 15 |M27x30 | 35 | 15 | 42 | 100 | 10 | 16 | 42

Bl M | M | mA | MB| N | NA o oL| R |sw/| u Y

232 | 14 | 45 46 | 36 | P9 | 49 | Miex15 | 25 | 10 | 17 | 45 | 28

240 | 18 | 55 54 | 36 | P9 58 | M22x15 | 30 | 10 | 22 | 45 | 28

250 | 20 | 60 53 | 37 | P11 | 59 | M26x15 | 35 | 10 | 27 | 5 295

263 | 22 | 75 63 | 39 | P11 | 65 | M30x15 | 40 | 10 | 32 | 55 | 31

* {712 5, 10mm JISETE KP4 -

M mindman



i

MHCBS 5HBURT - nIiiii#2 B 032063

SRR MR U SE BY i AR T mindman
MHCBS-DB
HTEE R 20, FF__,  NO#I ME
—J‘HJ;‘HTK:E 50 mm ‘ ‘ VIF
(S
T 1
‘ o} _
5 £ E@ i I =
(==t -
() ™)
[ |
1712 NB
Y PP Y HB
zB
4-gK &l
JxJH % oMxH % ME
MF
( >§ 1 T
g S JE 1 -
ooje 5 T 2
= N L
_IT i T’ﬂ\
; ,LTJ,I
sw, N >
KL cL KA _kw_ Kk 742 NB
c BB HB
zB
MHCBS-ZDB
SHESF
AJFATTAE 50 mm o e P VE
MF
T g
I P T .
Q|
N uw'ﬁ (]
(™ ™)
M < |
1712 NB
Y PP Y HB
zB
4-oK Hil
oM 7E ME
MF
( | } | |
@t 48 I :
- N 1 -
.
X
sw. N >
KL cL KW KK 1782 NB
oL c BB HB
zB

M mindman




MHCBS 5HBURT - nIiiii#2 B 032063

g R CSE Y R ERET mindman

T MHCBS-DB / MHCBS-ZDB

(mm) [eag /1782 5 10 15 20 25 30 35 40 45 50
ZB 178 183 198 203 218 223 238 243 258 263
BB 79 79 89 89 99 99 109 109 119 119

Jan |_FF 42 42 52 52 62 62 72 72 82 82
KK - - 39 39 49 49 59 59 69 69
PP 23 23 33 33 43 43 53 53 63 63
HB 89 9% 99 104 109 14 19 124 129 134
ZB 188 193 208 213 228 233 248 253 268 273
BB 80 80 ) 90 100 100 110 110 120 120

a0 _FF 42 42 52 52 62 62 72 72 82 82
KK - - 40 40 50 50 60 60 70 70
PP 24 24 34 34 44 44 54 54 64 64
HB 98 103 108 13 118 123 128 133 138 143
ZB 196 201 216 221 236 241 256 261 276 281
BB 85 85 95 95 105 105 15 15 125 125

w50 _FF 45 45 55 55 65 65 75 75 85 85
KK - - 41 41 51 51 61 61 71 71
PP 26 26 36 36 46 46 56 56 66 66
HB 100 105 110 15 120 125 130 135 140 145
ZB 213 218 233 238 253 258 273 278 293 298
BB 92 92 102 102 12 12 122 122 132 132

63 |_FF 52 52 62 62 72 72 82 82 92 92
KK - - 44 44 54 54 64 64 74 74
PP 30 30 40 40 50 50 60 60 70 70
HB 108 13 18 123 128 133 138 143 148 153

‘;z c cL D EA | EB | FA H J JH K KA | KL | KT | KW | LH

232 | 10 7 | 20 70 | 56 | 56 9 [M12x1.75 | 15 9 | 38 63 8 | 12 | 25

240 | 10 7 | 25 80 | 64 | 62 11 |[M16x2.0 | 20 1 | 38 70 8 | 12 | 290

250 | 11 8 | 30 94 | 74 | 74 | 13 |M20x25 | 25 | 13 | 40 80 9 | 14 | 34

263 | 13 | 10 | 35 | 114 | 89 | 90 | 15 |M27x30 | 35 | 15 | 42 | 100 | 10 | 16 | 42

Bl m | mi | ME | MF | N | NB o oL| R |sw/| u Y

232 | 14 | 45 71 61 | P9 74 | M16x15 | 25 | 10 | 17 | 45 | 28

240 | 18 | 55 79 | 61 | P9 83 | M22x15 | 30 | 10 | 22 | 45 | 28

250 | 20 | 60 78 | 62 | P11 | 84 | M26x15 | 35 | 10 | 27 | 5 295

263 | 22 | 75 88 | 64 | P11 | 90 | M30x15 | 40 | 10 | 32 | 55 | 31

* {712 5, 10mm JISETE KP4 -

M mindman



	1_規格
	2_MHCBR外觀尺寸
	3_MHCBF外觀尺寸
	4_MHCBS外觀尺寸
	5_MHCBS外觀尺寸
	6_外觀尺寸-可調行程 A
	7_外觀尺寸-可調行程 A
	8_外觀尺寸-可調行程 B
	9_外觀尺寸-可調行程 B

